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35. 00 92. 4 3.0
(m) (m2) (m3)
P e e N (2) (FHD (FWLAH) )
W KRR B8 R |CL~ 0 B Do | CR o) | » . w CL~ O B R | CPRETLER) | . , w
0 (| X i EE T X
(m) (m) (m) r (m) R e e (m) r (m) R e R
( )
NO. 0 2.00 - -
( )
NO. 0+ 4.0 4. 00 4. 00 10. 00 8.5 85.0
( )
NO. 1 16. 00 16. 00 15. 50 11.5 178. 3
( )
NO. 2 15. 00 15. 00 7.50 25.4 190. 5
35. 00 453. 8
(m) (m3)




BliE BT [#BEwHEL] B2 3 H &
(No. 1)
T il & B Y o' B O HOB
oy — REREEL A
WA
@ (2. 65X0. 15+0. 15X 0. 40X 2) X 4.9 = 2.54
0.95%0.12X2.9
® +(0. 95X 0. 56— (0. 65+0. 50) /2% 0. 41) X8.1 = 2.73
/NEF = 5.27
T iR
PERAERE 0.50X 1. 40X 6. 6 = 4. 62
At = 9. 89 9.9 n’
A K B i = yE RS
@ Bk BRERE
L=4. 9m L=6. 6m
850 950 850
50 650 50
e W\
=z 2650 -
@ mER
L=8. Tm
950
boss01s) =2

cfj

E gl @
g 2
SoT

2

2550022




(No. 2)

T & % " =X o' HAL EE
SRR BT 2.2 = 2.2 2.2 m




( NO.

1)

73 N I 0% oY) B2 B £ H R

Z 2 i B Rl #nt+T & FF ) HAZ
1 (D B=1. OmAifi 0.0 o
1 (4) B=4. 0mJL I 889. 201. 4 1,091.2 o’
SR+ (1) B=1. OmA il 0.0 o
I+ (2) B=1.0~2. 5m 0.0 o
IR+ (13) B=2. 5~4. Om 0.0 o
st 4) B=4. 0mA 25. 25.9  n’
AR+ (1) B=1. OmAifi 0.0
FER L (2) B=1.0~2. 5m 0.0  n’

BE L
R (D) B=1. OmAifi 0.0 o
R (2) B=1. OmAifi 0.0 o
B ikmtt 505. 505.4 | w’
IR AT - 0.0 |
ek 174. 1741 n?
~T/MARR

AR — b t=6. 4mm 0.0 o




BALTTHENEE [EFFuoyr, Effa] B E H RE &

(No. 1)
T il & B B = = Y A
1 (4) B=4. 0mLA k= 647, 2 (0. 12+0. 15) +0. 44 X 60. 66 201. 43 201.4 m’




(NO. 1)

BltE AT T B E £ FH X
15
4 R O Wbkl AR WEAIK & F BANL
PERR
1+ (4) B=4. OmLL I 902. 0 -12.2 889.8 | n’
X1 (4) B=4. OmlA k= 25.9 25.9 |
Bt R 481.2 30. 1 -5.9 505.4 | n?
FEA-IRAS - - 0.0

Ak 174. 1 174.1 | p?




( No. 1)
= El El v; \‘i\‘ A VA E % /“A_‘
FIEE BT 0%+ T) (b3t n= iR E
o s—|wr s — i1+ (4) (4. omp) 1) % iEm At b
M | X A8 R |CL~F0 F DR | CPmaE) | ) " CL~ELo | B | CRImLf) | ) o
) SR EEE 4 ) SR EEE 4
w | | @ irw]| ® e RS M
( ) ( )
NO. 0 2.00[ 2.2 4.4 2.00[ 0.8 1.6
( ) ( )
NO. 0+ 4.0 4. 00 4.00 10.00[ 17.0 | 170.0 4.00 10.00[ 9.7 97.0
( ) ( )
NO. 1 16. 00 16. 00 15.50] 27.1 | 420.1 16. 00 15500 15.1 | 234.1
( ) ( )
NO. 2 15. 00 15. 00 7.50] 41.0 | 307.5 15. 00 7.50] 19.8 | 148.5
35. 00 902. 0 481.2
(m) (m3) (m2)
\N\ B s —|Er s — Fli- AT AR
M A | KRR 2% R |oL~EOTE LR rrELn ) | ) Y CL~ D} B | CPRmm i) | . N
: T B B : T B B
w | o] W irw]| @ i i % W x| & Wi
( ) ( )
NO. 0 2.00 o_/g/ 1.6 2.00 - -
( ) ( )
NO. 0+ 4.0 N0 4.00 10.000 1.7 17.0 4.00 10.00[ 3.6 36.0
( ) ( )
NO. 1 16. 00 16. 00 157500 1.7 26. 4 16. 00 15.50] 4.5 69. 8
( ) ( )
NO. 2 15. 00 15. 00 7.50[ 1.7 12.8 15. 00 7.50] 9.1 68. 3
35. 00 57.8 174.1
(m) 2) (m2)




( No. 1)
= El El v; \‘ﬁ A VA E % /“A_‘
FIIEE AT (T (Rl n= iR E
o s—|wr s — S04 (4) (4. 0mPh k) % iEm At b
W | XRIERE e R |CL~F O FO | PR | . o CL~ELo | B | CRImLf) | ) N
: THIRE| it : THIRE| 1y it
w | w | w e | oo |[TOEETE ROy | g [T W] OROE
( ) ( )
NO. 0 2.00 - - 2.00 - -
( ) ( )
NO. 0+ 4.0 4. 00 4. 00 10.00[ 0.2 2.0 4.00 10.00[ 0.4 4.0
( ) ( )
NO. 1 16. 00 16. 00 15.50] 1.1 17. 1 16. 00 15.50] 1.1 17. 1
( ) ( )
NO. 2 15. 00 15. 00 7.5 0.9 6.8 15. 00 7.50[ 1.2 9.0
35. 00 25.9 30. 1
(m) (m3) (m2)
o s—|wr s — TR A
S| KRR a8 R |CL~E O BB CREELER) [ N " CL~ Do FD o8 [ CPRYTLERR) | § .
: THIRE| 1y it : THIRE| 1 it
w | w | w few | owo [P E ?/ B e | e [T ROR
( )
NO. 0 2.00 -
x ( )
NO. 0+ 4.0 \00 4. 00 10. 00" 0.4 4.0
( )
NO. 1 16. 00 16. 00 ;5(22 1.1 17. 1
( )
NO. 2 15. 00 15. 00 7.50[ 1.2 9.0
35. 00 30. 1
(m) \xwzi




(NO. 1)

PR T (BT B E £ H OE

4 R O Rl & F BANL
BRIET Ay

=T t=5cm 128.9 128.9 | p?
LR S HE

AR T t=10cm 132.2 132.2 | 2




((No. 15 ) 1)
Hi[+H  4H Ak ¥ B =
Al SRR T (B T) Mo G HOE
Y e e F g L (ERLET A 2 ) (t=5cm) & T CRLE SRR ) (1=10cm)
WA R g R L~ o] crmmotm | o N CL~ HL0o LD AR | CPmLEE) | o “
. LY RERE| M 5 A LY RERE| M 5
OO RO ERONN . R | e Wi
( ) ( )
NO. 0 2.00] 7. 10 14.2 2.00] 7.15 14.3
( ) ( )
NO.O+ 4.0 4.00 4. 00 3.00] 5.21 15.6 4. 00 3.00] 5.31 15.9
( ) ( )
NO. 0+ 6.0]  2.00 2.00 8.00] 3.30 26. 4 2.00 8.00 3.40 27.2
( ) ( )
NO. 1 14. 00 14. 00 14.50] 3.30 47.9 14. 00 14.50|  3.40 19.3
( ) ( )
NO. 2 15. 00 15. 00 7.50]  3.30 24.8 15. 00 7.50] 3.40 25.5
35. 00 128.9 132.2
(m) (m2) (m2)




AR T

(153 AAK]

(No.
T T & B B & . T
it (4) B=4. 0mPA | 2. 1X2.0+4.2%1.9 = 12.18 Al12.2 n’
B yEmEa B 1.0X0.945.0%X1.0 5. 90 A5.9 n
15iRAKEL
B
TR
QA Y~ T
‘%’ - _ v____v-"V‘VAVA’:'A'A?;9;91931¢Xg¢:6Aé:
ﬂ‘""""""‘””vvev¢z¢?'
R RIS =
ks SRR
FAs e
%> S




AR T (T y 7~y hT)



ERMR LRy 7~y FL)

¥ B

L GO

NO.1
T il 4 R b 5 = B i Ci)
BHEL - B
Tuavy <y N 7oy r <y k t=100 690.4 m?
SD295A
T v — B v D16><L600 0.001 ton/m2




BRI L (e vy s~y ML)

» 2 £ B X

T I A AR S A
s - B

Tuy /<y b t=100 298.82 391.61 690.43 | w’




Tuyr<y L A H B #H B &
(No. 1)
T 4 W B X BB OHM B
Tay s~y h 6.07><10.50 = 63.74 LIS
4.79>< (10.50+0.45)/2 = 26.23 )
1.00>0.45 = 0.45 )
4.79><(0.45+10.50)/2 = 26.23 )
1.90>8.31 = 15.79 )
15.29>10.5 = 160.55 )
(6.07+5.59)/2>1.00 = 5.83 KSR
3 = 298.82 298.82 m’




Tuyr<y L Ell2 H B #H B &
(No. 1)
T % B X BE OB E B
Tay =y b (1.53+0.40)/2>6.00 5.79 YETTHD
1.00>0.42 0.42 I
1.00>6.00 6.00 )
16.00< (6.00+10.50)/2 132.00 )
20.00>10.50 210.00 )
(0.40+37.0)>1.00 37.40 KSR
i 391.61 391.61 m?




Tanyr<y rL TUH—E ¥ B 5 B &

No. 1)
T iy & W B = <X{v i &
BN AR
T —E SD295A 1.56 = 1. 56 kg/m HE
D16 X L600
1.56%0.6 = 0.94 kg/ A
T/h—t" Y
50. 00 = 50. 00 Z%/100m2 DALES
0.94%50/100 = 0.47 kg/m2

0.47/1000 = 0. 001 ton/m2




LERAH T GERT)



PR T (GE S T) 2 BE B B £
NO. 1
T il £ R M o = =R vA T

$£35¢cm

Ty 7 BT BB e v 7 Hart=20cm 16.5 m?
sy

7 4 N X — C-40 6.9 m®
L=0. 6m

v o4 — TR = ¢ 50 2 1

3H B -} 8.4 m

R £ 13.6 m®

H B 3.2 m®

A Rtk 14.3 m?




PERAHR T GERE L)

RIS Bl T

4 R O T a s & F BANL
E35em

W7oy H o2 t=20cm 16. 52 16.52  m?
iy

7 4L H— C-40 6. 89 6.89
L=0. 6m

A — TRl ¢ 50 2 2

35 FEAE )Y -] 8.43 8.43 m

R 13.6 13.6 | n°

MW R 3.2 3.2 | n’

PNVAb 14.3 14.3 |




ARERERT [(BR7ny 7] o 2 B B F

No. 1)
T T £ Fr B = & HAL E B
$235cm
s oy 7 B o t=20cm| (2.80+1.37)/2X6.95 = 14. 49
1.37X 1. 48 = 2.03
Z = 16.52  16.52 m
ety
T A IVH — C-40 (1.24+0.52) /2 X 6. 95 = 6.12
0.52X1.48 = 0.77
Z = 6. 89 6.89 m’
1=0. 59
74— R ¢ 50 1/2X1.77X3.48 = 3.08
3.48/2 = 1.74 2 &
e EL 151.57 |
EL 150.80
EL 150.30
EL 149. 61
- PHL 149.15
- e —
-
. &
| EL 147.51 / [
3 g )Y -} 8.43 = 8.43 8.43| m
PR +#b (3.2+0.5) /2X6.95+0. 5X 1. 48 = 13. 60 13.6 m’
PR (0. 2+0. 5) /2X6. 95+0. 5X 1. 48 = 3.17 3.2 nm
Nt - (2.7+1.0) /2X6.95+1. 0X 1. 48 = 14.34 14.34 o’




EETny s [35REBEa 7Y — ] B E H RE &
Om4 v HH

(No. 1)

T & & W B = B OHAM W OB
7 U— k| NEEY (0. 15+0. 30) /2X0. 55+0. 30X 0. 10) X9.00 = 1.38 1.38 m’
A JNREEEY) (0. 15+0. 30) X 9. 00 = 4.05 4.05 m
= 4 Y Zv s ) — MR LD = 1.38 1.38 m’
HmEIE 0.65%9. 00 = 5.85 5.85 m”




LAt A K T (1)



1 Z i AKE T (1) B B B B #
NO. 1

T il £ R M o = =R vA T
E77 B | N wmooEl (D i 7.0 m®
#* m ¥ IE AT 8.2 m?
B+ T R ()| 1) B=1. Om=&Tifs 9.5 m®
R @ (a +) B=1.0~2. 5m 7.3 m®
HEQO(EX+1) B=1. OmA<Tits 3.1 m®




15 AKX T ¥ o8& i B OE (No. 1)

O #HE(1D) ©@ #HI(©2) @ HEmEIE (@ #HEQ GEH|O® LEQ) Jat)
H OB BE | CERREE ijE! i B<1. Om B<2. 5m
Wromn  f & Wrom E = Wrodm & Wl S & bl (B &
©) 0. 00 1.21 - - - - - - 0.4 0.5 - -
® 2.42 1.28 - - - - - - 1.0 1.3 1.5 1.9
@) 0.13 0.07 - - - - - - 1.0 0.1 1.2 0.1
@) 0. 00 1.03 - - - - 1.1 1.1 1.0 1.0 1.2 1.2
@ 2.05 1.94 1.3 2.5 - - 1.1 2.1 1.4 2.7 1.0 1.9
®¢) 1.83 0.92 1.1 1.0 - - 1.1 1.0 1.3 1.2 0.8 0.7
®) 0. 00 1.84 1.1 2.0 - - 1.1 2.0 0.1 0.2 0.8 1.5
® 3.68 1.84 0.8 1.5 - - 1.1 2.0 0.2 0. 4 - -
B~D 2.1
& F 10. 11 10. 11 7.0 0.0 8.2 9.5 7.3
15 AKE LT B & i B OF (No. 2)
® HEQ0) (x=°1)
H R BE | CERREEE B<1. Om
Wromn  $ & Wrom E = W e & Wl B & Bl (B &
©) 0. 00 1.21 - -
) 2.42 1.28 - -
@C) 0.13 0.07 - -
@) 0. 00 1.03 - -
@ 2.05 1.94 - -
®C) 1.83 0. 92 - -
®) 0. 00 1.84 1.2 2.2
® 3.68 1.84 0.5 0.9

& § 10.11 | 10.11 3.1




15 MAKKE LT B E H R E
No. 1)
T i & W B = & HAL W E
T ED
HE () (Bt) | B<L.Om  2.1X1.0 = 2.10 2.1
Bl ¢ D]
4495
1050 3445 2415
550 1865
\'.'L»\
=
IL 149. 15 ,Q/
..q,_'\ z .4,2
< 8 _
EL 148.01 =7 78_1| 100"
== 400-
EL 147.51 |~ W (1) Gat) T
: A=2. 1m2.
‘J'___‘:’z—-—-———B:GrSQZﬂ.Om
' L
p 610 3445
240
4495




LAt A KIS T (115 4))



L R A KIS T (15 4)

¥ B

/AN
[

NO. 1
T by 4 R M o = =R vA T EE

SRR EY)

I 5EMAKKBTLT =2 27 U — K 21N-20-8 2.12 m?
M HE S

a2 v 7 U — b 18N-40-8 0.02 m?
M ARE )

BWLarv sz U—+h 18N-40-8 0.52 m?

) i BRI 13.2 m?

pinl} e HLrar A 1.0 m?

B3 s PRIE S 2.12 m?

B3 s MRS TE ) 0.02 m?
A Y 2

1 Kk K 20X 10 4.5 m

N4 v NBA T 0.2 m?

T-14

BERLSLA w720 =b B600 X HE00 10. 1 m
H500 X B1200

20 N/ N L=2000 4.0 m

[/ N $ 90X L1500 4 ZN

&k i D13 0.210 ton




1 5MAKE T B E H R E
No. 1)
T iy & W B = & HAL E B
ar 7 U— b | S
JECRR 1.00X0. 20 X 4. 495 = 0. 90
1R BE 0.50X0. 20X 4. 495 X 2 = 0.90
T bA 7 (0. 20+0. 44) /2 X 0. 80X 1. 00 = 0. 26
(0.275X0. 13X 1/2+
ZH (0.20+0. 21) /2% 0. 20) X 1. 00 = 0. 06
& = 2.12 2.12
4495
1050 3445
S
°°___/ 27510
4 &] 200
200 | 610 3170 575
240
a7 U — k| HEFREEY) (0.60X0.17-0. 10X0. 10X 1/2X2) /2X0.34 = 0. 02 0.02 m
(EFT2/7)-1)
L=y s ) — | EGREEY 1.20X0. 10X (0. 61+3. 17+0. 575) = 0.52 0.52 m
A EEAAEIEY)
AKEEHMED 4. 495%0. 70X 2 = 6. 29
KPR 4. 495X 0. 50 X 2 = 4. 50
71> N A7 |(0.20+0. 44) /2 X 0. 80 X 2+1. 00X 0. 80 = 1.31
(0.275X0. 13X 1/2+
ZH (0. 20+0. 21) /2 0. 20) X 2+0. 21 X 1. 00 = 0.33
B-BWrmi 1. 00X0.70-0. 60X0. 50 = 0. 40
D-DITH] 1. 00X0. 63-0. 60X0. 50 = 0.33 0.33
g = 13.16  13.16 m’




(No. 2)
T  f# % B =X R OHAN E A
W A )
A #FHL) (0. 61+3. 17+0. 575) X 0. 10X 2+1. 20X 0. 10 = 0.99 0.99 m
#* PRAGHEEY) oo s ) — ML D = 2.12 2.12 m’
= 4 MEGHEY) ov s ) — ML Y = 0. 02 0.02 m
IKZ8E 1k K BA
17K 20X 10
D-DITIE]  |1.86 = 1. 86
E-EWrr - 2. 60 = 2. 60
it = 4. 46 4,46 m
A N e 1.00X0. 20 = 0.20 0.20 m’
PR, T-14
K 92k = | BB00 X H600 10. 10 = 10.10  10.10 m
H500 X B1200
7 henT L=2000 2.00X2 = 4. 00 4.00 m
[N $ 90X L1500 2x2 = 4 4 A
MK TRARE) LY kg
i D13 210.0 =  210.0 0.210| ton




BEBISL AR » 7 A B jusx— | ¥ B 2 B =
10mY4 ) B H
(No. 1)
T  f# % W -1 X R OHAMN O H &
T-14
& 220" =b | B600 X H600 10. 00 = 10. 00 10. 00| m
HE L2 L 1:3 0. 86 0. 02X 10. 00 = 0.17 0.17 m
BLar sy —b EHREEY) 1.06%0. 10X 10. 00 = 1. 06 1.06 m
AT HEEY)
A (L)  0.10X2X10. 00 = 2. 00 2.00 m




